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301 Lose die Gleichungen.

A 3x-8(x+2)=5(4-3x)-1 X = %
B 6(2x-3)+9(x+4) - 8(3x+1) = -1 X = %
C (3x-5)(x+4)-8=3(x+2) x= 8
D (4x-1)*-6 = (4x +3)(4x - 3) X = %
E 3+(x=1)(x+1)=(x=-1)7? X = _%
Fo(x+1)-6x+(2x+1)” = (3 - 2x)(1 - 5x) X = 2‘2_7

4

4 _a

A ;:—5 X = 5
2

B ==7 x= 21
c g+7:8 %= 2

A (x-)+(4)=_1 x= —2

B (x-)|-(4)=0 x= 0

C ma= x = Keine Losung
D e = 2 x= —8

Die Losung dieser Gleichung ist niemals eine positive Zahl.
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2x+1 -0

4

Keine Losung

10

A 3% WE
2x+1 _ _ —
B -5 =" X =
2x+1 _ _
C 3-x~ 2 X=
2x+1 _ —
D 3-x~ 3 WE
305 Berechne x.
4 _ 2 _
A 3x+4d " 3x_1 x=
2 X
B r+1=3_x xX=
2 _ 8 _
c x+2+7_x+2 X=
D %=2x+% %=
9 _ 3 _
E 2x T 2x+2 WSS
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